Department of Transportation

ABC Bid Data

WELL DECOMMISSION (3 SITES) 43140A

NON-FEDERAL

PROJECT: WELL DECOMMISSION (3 SITES)

STATE PROJECT NUMBER: 43140A

FED. PROJECT NUMBER: NON-FEDERAL **DATE BIDS OPEN:** February 11, 2021,

SCOPE OF WORK: Decommission 3 wells at various locations

COMPLETION DATE: May 20, 2022

LOCATION: Merrimack, Rockingham, Hillsborough Awarded To: WRAGG BROS OF VERMONT

INC

5285 ROUTE 5 ASCUTNEY, VT 05030

Amount: \$12,780.00 Certified by: PETER.E.STAMNAS

Director of Project Development Award Date:

Summary of Bidders

Contractor	Bid Amount	Rank
WRAGG BROS OF VERMONT INC	\$12,780.00	Α
5285 ROUTE 5, PO BOX 110, ASCUTNEY VT 05030		
SKILLINGS & SONS INC	\$15,645.00	В
9 COLUMBIA DRIVE, AMHERST NH 03031		
R J OLSZAK CONSTRUCTION INC DBA ALL-WAYS WRECKING	\$21,000.00	С
717 MAYHEW TURNPIKE, BRIDGEWATER NH 03222		

New Hampshire Department of Transportation

ABC Bid Data

WELL DECOMMISSION (3 SITES)
43140A
NON-FEDERAL

				F	PS&E WRAGG BROS OF VERMONT INC 5285 ROUTE 5 ASCUTNEY, VT 05030		9 COLUI	s & SONS INC IBIA DRIVE T, NH 03031	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

662.281	DECOMMISSION DRILLED WELL	LF	560.00	\$14.00	\$7,840.00	\$13.00	\$7,280.00	\$17.00	\$9,520.00
662.285	DECOMMISSION DUG WELL	LF	25.00	\$280.00	\$7,000.00	\$100.00	\$2,500.00	\$125.00	\$3,125.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00

Totals:	\$17,840.00	\$12,780.00	\$15,645.00
Alt. Totals:			
Totals:	\$17.840.00	\$12.780.00	\$15.645.00

New Hampshive Department of Transportation

ABC Bid Data

WELL DECOMMISSION (3 SITES)
43140A
NON-FEDERAL

				PS&E		PS&E R J OLSZAK CONSTRUCTION INC DBA ALL-WAYS WRECKING 717 MAYHEW TURNPIKE BRIDGEWATER, NH 03222		717 MAYHEW TURNPIKE		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Items										
662.281	DECOMMISSION DRILLED WELL	LF	560.00	\$14.00	\$7,840.00	\$25.00	\$14,000.00			
662.285	DECOMMISSION DUG WELL	LF	25.00	\$280.00	\$7,000.00	\$160.00	\$4,000.00			
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00			
			Totals:	\$17,840.00		\$17,840.00 \$21,000.00				
			Alt. Totals:			T				

Totals:

\$17,840.00

\$21,000.00



PS&E Comparison

WELL DECOMMISSION (3 SITES)
43140A
NON-FEDERAL

			1	A-Bide	der	PS	ķΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
662.281	DECOMMISSION DRILLED WELL	LF	560.00	\$13.00	\$7,280.00	\$14.00	\$7,840.00	(\$560.00)
662.285	DECOMMISSION DUG WELL	LF	25.00	\$100.00	\$2,500.00	\$280.00	\$7,000.00	(\$4,500.00)
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$0.00
	Total:				\$12,780.00		\$17,840.00	(\$5,060.00)

Wednesday, February 17, 2021 Page 4 of 4